ONCR

STANDARD DIE COMPONENTS

CAM UNITS CHK
SCHIEBER CHK
CAMME CHK



OMCR

Max Work Force  Extraction

OMCR Work Angle | Slider Width Caﬁ!oﬁgﬂ] " W“’A'IkxAlera with shoulder Force
3 kN
CODE (mm) ) (mm) 10° cycles (kN) (kN)
B Fs Er

CHK065 0°:70° (5° steps) 65 210 65 x'F" 58 0,32:0,85
CHK100 | 0°:70° (10° steps) 100 280 100xF 9% 0,99:2,10
CHK200  0°:70° (10° steps) 200 280 200X 'F" 231 1,08:4,21

Advanced production tools

635



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max
Stroke Work Force
(mm) with shoulder

Extraction

OMCR Work Angle Force (kN)

CODE (kN)
Spring

CHK065.00 0° 26,87 58 0,79

CHK065.05 5° 26,97 58 0,77

CHK065.10 10° 31,61 58 0,85

CHK065.15 15° 32,23 58 0,77

CHK065.20 20° 33,76 58 0,85

CHK065.25 25° 35 58 0,77

CHK065.30 30° 33,46 58 0,85

CHK065.35 35° 35,38 58 0,77

CHK065.40 40° 42,91 58 0,85

CHK065.45 45° 46,49 58 0,77

CHK065.50 50° 54,45 58 0,77

CHK065.55 55° 43,59 58 0,62

CHK065.60 60° 50 58 0,54

@ CHK065.65 65° 47,32 58 0,39

CHK065.70 70° 58,48 58 0,32

— | | ORPER Art. Work Angle = 5°
ENIS CHK0G5 05
Work Overall Dimensions
OMCR Angle (mm)
CODE

B A B (H D E F
CHK065.00 0° 185,94 56,57 75 155 55 80
CHK065.05 5° 193,01 56,57 70 150 55 90
CHK065.10 10° 196,80 67,58 70 150 40 80
CHK065.15 15° 203,77 68,81 67 147 40 90
CHK065.20 20° 198,10 74,31 60 140 10 80
CHK065.25 25° 204,75 76,73 55 135 10 90
CHK065.30 30° 193,63 89,52 50 130 10 80
CHK065.35 35° 199,76 93,06 45 125 10 90
CHK065.40 40° 188,72 99,62 40 120 15 80
CHK065.45 45° 194,13 104,16 34 114 15 90
CHK065.50 50° 190 110 30 110 10 90
CHK065.55 55° 190 115 20 100 10 100
CHK065.60 60° 190 115 20 100 10 100
CHK065.65 65° 190 130 0 80 10 110
CHK065.70 70° 190 130 0 80 10 110

636


http://omcr.it/download.php?p=download%2FCad+3d%2FUnit%C3%A0+a+camme
http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK065.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

X VIEW ~— 80 —=
P13 (4x) TSO’]
5o O |
AN
o ****f*** o -
|
L@M} )
40:0,05 ! ! @10 H7 (2x)
A
""l |y B

CAM DIAGRAM @{} f ®
& 6“0*0)\
® B

o
ef’Q‘\
s

foL T

Ps
Press Stroke
@

strok L c
Slider Gas D
Work | Inner | Work SPtrr?JT(se Spring
Angle  Angle @ Stroke (mm) Stroke
(mm) (mm)
Ps Gss
B a 15 150
0° | 45° 2687 @ 26,87 38 @13 (4x) 25 h7 @10 H7 (2x)
5° 50° 26,97 29,22 38

10° | 45° 31,61 27,28 38
15° | 50° = 32,23 30,14 38
20°  45° | 3376 26,34 35

l

I

o 6| | |6-0)
]

g 3 E@ —6 | is¢
25°  50° | 3500 29,58 35 - ® ® -
30° | 45° | 3346 2449 30 L = j
35° | 50° | 3538 2806 30 & |
40° | 45° | 4291 3046 33

12 12
45° | 50° | 4649 3575 33
50° | 50° 5445 @ 4171 | 35 5020,05 80
55° | 55° | 4359 3570 25 165 095
60° | 60° 5000 4330 25
65° | 65° 4732 4289 20 180

70° | 70° 58,48 @ 54,95 20

637


http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK065.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

638



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
!
|
| Side Plate
0.01:0.02 T
@ Cam Slider
H [y
0.01:0.02 O ‘ O
0.01:0.03 | O
0.01:0.03 ZA
i
i Positive Return
I
N
|
Cam Driver
Particular number Description Material Quantity
1 Cam Slider GG-25 + Graphite 1
2 Cam Driver GG-25 + Graphite 1
3 Cam Base GG-25 1
4 Side Plate CuZn25AI5 + Graphite - HB > 190 2
5 Positive Return CK45 2
6 Stopper Plate St44 1
7 Spring Guide Pin 34CrMo4 1
8 Spring 1
9 Plate CK45 2
10 Key CK45 2
1" Male "V" Driver CK45 1
12 Female "V" Driver CuZn25AI5 + Graphite - HB > 190 1
13 Cam Driver Fixing Screws M12x45 DIN 912 = 4
14 Cam Base Fixing Screws M12x55 DIN 912 - 4

639



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction
Stroke Work Force | Force (kN)
omcr | WorkAngle | “umy | yith shoulder
CODE (kN))
B Spring
CHK100.00 0° 28,28 96 2,10
CHK100.10 10° 33,27 96 2,10
CHK100.20 20° 30,86 96 1,86
CHK100.30 30° 33,46 96 2,10
CHK100.40 40° 39,01 96 2,10
CHK100.50 50° 46,67 96 1,91
CHK100.60 60° 60 96 1,48
CHK100.70 70° 58,48 96 0,99
‘@ c
—a [ | QRPER Art. Work Angle = 10°
E CHK100 10
Work Overall Dimensions
OMCR Angle (mm)
CODE
8 A B ¢ b E F G H 1
CHK100.00 0° 240 85 80 220 55 100 17 140 110
CHK100.10 10° 240 90 60 200 35 100 17 140 110
CHK100.20 20° 240 110 50 190 15 100 18 140 110
CHK100.30 30° 240 110 30 160 10 120 17 130 100
CHK100.40 40° 240 115 30 150 10 120 17 120 90
CHK100.50 50° 240 120 10 130 0 140 16 120 90
CHK100.60 60° 240 145 0 110 0 140 16 110 80
CHK100.70 70° 240 145 0 110 0 140 16 110 80

640


http://omcr.it/download.php?p=download%2FCad+3d%2FUnit%C3%A0+a+camme
http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK100.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

X VIEW H
®13(4x) 15 | |
'

{7 L
38 777:{77787 g 8
Bl
Lok !

40 10,05 ! @16 H7 (2x)

CAM DIAGRAM

S
e

P

o
c""ggQ 2
< 0B D
]
SNSH
B 20

Slicte, Wol \\/ 200 |

0,

" Stroge @18 (4x) ‘ ‘ 32h7 / @16 H7 (2x)

Slider | pags | Gas ﬁ%ixﬁ} :LT ‘
| | Wt | oy | S T :

(mm) (™™ | (mm) 8w [ 1 *’F ,,,,, FG’@” 3 8 8
B a Ps Gss i i |:_ =t — ® 8 T 7
0° | 45° | 2828 | 2828 | 40 l @ © O ji ‘
10° | 45° | 3327 | 2872 40
20° | 45° 3086 | 2408 @ 32 12 G
30° | 45° | 3346 | 2449 30 60 20,05 155
40° | 45° 3901 2769 30 0,05
50° | 50° 4667 | 3575 | 30 225
60°  60° 60,00 5196 30 240

700 70° 58,48 54,95 20


http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK100.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

642



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
|
1 S
! Side Plate
0.01:0.02 O ! O
! Cam Slider
B[ R -
o | o
0.01:0.02 i
i (®)
i
0.01:0.03 \ AN
Positive Return
i
|
! ~
I
Cam Driver
Particular number Description Material Quantity
1 Cam Slider GGG-25 + Graphite 1
2 Cam Driver GGG-25 + Graphite 1
3 Cam Base GGG-25 1
4 Side Plate CuZn25AI5 + Graphite - HB > 190 2
5 Positive Return CK45 2
6 Stopper Plate St44 1
7 Spring Guide Pin 34CrMo4 2
8 Spring - 2
9 Elastomer Cap Elastomer 92SH 2
10 Male "V" Driver CK45 1
1 Female "V" Driver CuZn25AI5 + Graphite - HB > 190 1
12 Plate CK45 2
13 Wear Plate CuZn25AI15 + Graphite - HB > 190 2
14 Key CK45 3
15 Cam Driver Fixing Screws M12x55 DIN 912 = 4
16 Cam Base Fixing Screws M16x70 DIN 912 - 4

643



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction
Work Force | Force (kN)
with shoulder

OMCR Work Angle

CODE (kN)
CHK200.00 0° 28,28 231 421
CHK200.10 10° 33,27 231 421
CHK200.20 20° 30,86 231 3,71
CHK200.30 30° 33,46 231 420
CHK200.40 40° 39,01 231 4,20
CHK200.50 50° 46,67 231 3,81
CHK200.60 60° 60 231 2,97
CHK200.70 70° 58,48 231 1,98
e || SRRER Art. Work Angle = 10°
ENIES CHK200 10
Work Overall Dimensions
OMCR Angle (mm)
CODE
B A B C D E F G H
CHK200.00 0° 240 85 80 190 55 100 17 190
CHK200.10 10° 240 90 60 170 35 100 17 150
CHK200.20 20° 240 110 50 160 15 100 18 150
CHK200.30 30° 240 110 30 140 10 120 17 150
CHK200.40 40° 240 115 30 140 10 120 17 150
CHK200.50 50° 240 120 10 120 0 140 16 150
CHK200.60 60° 240 145 0 110 0 140 16 150
CHK200.70 70° 240 145 0 110 0 140 16 150

644


http://omcr.it/download.php?p=download%2FCad+3d%2FUnit%C3%A0+a+camme
http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK200.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

XVIEW

CAM DIAGRAM

S
e

P

o
QQ‘ ]
22 X
& o
< 0
a 17
]
o
e |

% S \\/%
Or/r

=— 110 —
20
18 (4%) 70’1
@ O
. _
9
(=] o O
® H-—1-—f—1 & ©
N N N
oeolt,
55 0,05 ‘ ! @16 H7 (2x)

o

)
|

s"°/re
Work | Inner ?N":ﬁ(r sPtr:)T(se sﬁﬁﬁg
Angle | Angle = Stroke Stroke
(mm)  (mm) | (mm)
B a “ Ps Gss
0° 45° 28,28 28,28 40
10° 45° 33,27 28,72 40
20° 45° 30,86 24,08 32
30° 45° 33,46 24,49 30
40° | 45° | 39,01 27,69 30
50° 50° 46,67 35,75 30
60° 60° 60,00 51,96 30
70° 70° 58,48 54,95 20

X
~Z
—{ C
D
20 200
@18 (4x) ‘ i32h7 @16 H7 (2x)
!
= [©le g
ol Zj
I[ "c o O
T drn —Jel 288
L . l
1 [a @
o [® @O
16 | G
60 +0,05 155
225 +0,05
240

645


http://omcr.it/download/Informazioni%20tecniche/CHK/Technical_info_CHK200.pdf

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

646



AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
i
i Side Plate
0.01+0.02 O O i O O
i Cam Slider
i : -
= \
|
0.01+0.02 O ‘ ;
o \ (@)
1 ‘ L
0.01+0.03 v
[1 I
[ 1
[ ! Positive Return
_)_ |
|
| N
|
0.005:0.01 Cam Driver
Particular number Description Material Quantity
1 Cam Slider GG-25 + Graphite 1
2 Cam Driver GG-25 + Graphite 1
3 Cam Base GG-25 1
4 Side Plate CuZn25AI5 + Graphite - HB > 190 2
5 Positive Return CK45 2
6 Stopper Plate St44 1
7 Spring Guide Pin 34CrMo4 4
8 Spring 4
9 Elastomer Cap Elastomer 92SH 4
10 Male "V" Driver CK45 1
1 Female "V" Driver CuZn25AI5+ Graphite - HB > 190 1
12 Wear Plate CuZn25A15+ Graphite - HB > 190 2
13 Plate CK45 2
14 Wear Plate CuZn25AI5 - HB > 190 2
15 Key CK45 3
16 Cam Driver Fixing Screws M16x60 DIN 912 4
17 Cam Base Fixing Screws M16x70 DIN 912 - 4

647



	Cam units CHK

